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int main()
{
Int abc;
Int cd;
int efq;
cd = 10;
putint(cd);
}
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int main()

{

int abc;
int cd;

int efg;

cd = 10;
putint(cd);
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int main()
{
Int abc;
Int cd;
int efq;
cd = 10;
putint(cd);
}
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BEEERDICE

http://cis.k.hosei.ac.jp/~asasaki/lectureCompiler/problem3.htm

<MAIN>::="int' 'main’ '(' ')’ <BLOCK>
<BLOCK>::={' <INTDECLLIST> <STATEMENTLIST> "}
<INTDECLLIST>::= empty

| JINTDECLLIST> <INTDECL>
<INTDECL>:="int' <IDENTLIST>"
<IDENTLIST>::= <IDENT>
<IDENT> [ <NUMBER> |’
<IDENTLIST>" <IDENT>
<IDENTLIST>""<IDENT>'[ <NUMBER> ]

|int a, array|[3];
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int main() Block
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iInt main(){
int a;
Int b;
a=1;
b=a+t+2;
putint(b);
}
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IDENT:a

addName("a")

int IDENT:b

_{ addName("b")
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